Efficiency vs P,

~ 0.5
0.45
0.4F
0.35F
0.3F
0.25
0.2
0.15
0.1
0.05
10

ermciency vs p

1.1

Ratio

iy

=
o@
N

1 10 o, el

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWT3

= 0.2
4
>\0.18
(C) r
0_,0.16_
(8] L
£0.14F
m .
0.12F -+ SR
0.4F - f : :
0.08F -+ } : } :
0.06F - f4f 11{- T J( [t}
0.04 :
0.02H
1Q

Ratio

iy

TT T T T T TTL]TTT
——
— el
e

cracc = ..

T N gt

o . o
- ———
- ——

= =

[ —
[——
S —

o
©
T
G

I
w

I

N

I

AN

N =

N

w

Efficiency vs ¢

o 0.1-
o E
>‘0.09 ;
2 ]
$0.08 :




	Contents
	Page 1


